Intro 1.10 and 2.1 Template b
rmalts

1. Write an equatiop that expresses “P is jointly proportional to x and y and inversely proportional to the square of d and

the square roof of ¢.”

—_—

2. Express the statement as a formula.

0\3 s is\inversel)f proportional to the

b) If s = 6 and 1 = 13, what is the constant of proportionality?
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3. Evaluate the function f(x) = —:}:- at f-3)
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4. Evaluate the following piecewise defined function at the values f(-4), / (®, and £ (10).
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5. Find the domain of the following function:

_ 6 Set es. fo Rero
f(x)_3x—9 y

Express your answer using jnterval notation, 5

Bye~q9 Xo
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6. Find the domain of the following function:
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(—eo, 3)U (300)
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Express your answer using interval notation.

£ -~3% >C7
+3X
? >$

(e
7. For the function f(x) = x % -2x + 1, find 5 it ) \{‘(‘l)
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8. For the functionf (x) = 2% fix
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9. Find the net change in the value of the function between the given inputs.
f(x) = —x? + 3x — 10; from -3 to 2

% 2y ~S$C¢3
3 (-3 =~ (%3610 g(b)) i gm)

=~9-9 —10':!-19

S(D = -(2)%3¢)~10 ~8-(-28) = —8+26’-’-‘
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o Intro 1.10 and 2.1 Template

1. Write an equation that expresses

(Ligjointly proportional to x and}y and inversely, proportional to the square of d and
thelsquare root of D

lVdJ
pr-(f-t/l d&hom)

2. Express the statement as a formula.
‘—'—_""—-

OL) s is inversely proportional to the square of .
L = —

b) If s =6 and 1= 13, what is the constant of proportionality?
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3. Evaluate the function f(x) = — 5 atfl- 3)

FEG3) = ("3) F2 o =342

Do ho t+
St+o P heré.

4. Evaluate the following piecewise defined function at the vaIuesf(—4) S @, and £(10).
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5. Find the domain of the following function:

Set +le denom.

IO=525 S eq. o zera < —— 5
& { >
Express Yyour answer using interval notation, %) -3 <o
DSx<— O o
T# (-—ooJ U (3,0)
3x£9 L
Skip thix
DXZ3
6. Find the domain of the following function:
f) =
V7 — 3x
Express your a}lwer using interval notation.
P ==
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7. For the function £ (x) = x 2 -2x + I, find \:’C(G)
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8. For the functionf(x) = 23X
Jla+h) - fia)
———-________

- Where
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9. Find thy :tget chanr-:s-:)n the value of the function between the given inputs.
f(x) = —x*+3x - 10: from -3 to2
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